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ΣΤΑΤΙΣΤΙΚΗ ΘΕΩΡΙΑ ΑΠΟΦΑΣΕΩΝ

Θεωρία Ταξινόμησης (Classification Theory) Ταξινόμηση
αντικειμένων σε ξεχωριστές κατηγορίες ή κλάσεις
Στατιστική Θεωρία Αποφάσεων παρέχει τις μαθηματικές
διαδικασίες για την αναπαράσταση χαρακτηριστικών με
την μορφή διανυσμάτων.
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Μηχανική Αντίληψη (Machine Perception)
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Ένα παράδειγμα
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Ανάλυση του προβλήματος
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Σύστημα Ταξινόμησης
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Ιστόγραμμα μήκους
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Ιστόγραμμα φωτεινότητας
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Έννοια του κόστους
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Διάνυσμα χαρακτηριστικών
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Μη γραμμικές συναρτήσεις διάκρισης
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Γενίκευση της Σχεδίασης του Ταξινομητή
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Μπευζιανή θεωρία αποφάσεων
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ΈΝΑ Πρόβλημα Εκτίμησης

Λαμβάνουμε το σήμα (μέτρηση)

n(t) είναι ο θόρυβος και s(t) είναι το σήμα
Υπόθεση 1 H0 : Δεν υπάρχει το σήμα και x(t) είναι μόνο θόρυβος
Υπόθεση 2 H1 : υπάρχει το σήμα και x(t)=s(t)+n(t)
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Τι ξέρουμε;

The signal s(t) is known and we want to know if it is 
present or not.
n(t) is a stochastic process with known statistics.
The observer must base its decision on 

Samples of x(t) (digital x(nT))
The entire x(t) (analog)

We shall address the digital problem:
We assume that (a) s(t) and n(t) are 
independent  

(b) The samples of n(t) are uncorrelated
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Στόχος;

Design the optimum system:

The system can be linear or nonlinear 

Hardware device
System means

Software program

Criteria:
1. The system must be optimum with respect to a criterion which 

depends on the particular problem.
2. Sometimes we are satisfied with a sub optimum system because 

it is much simpler than the optimum.
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Parametric detection: if we know the p.d.f of n(t) 
(complete description)
Non parametric detection: if we don’t have a complete 
description of n(t). (ex. : we only know )
Robust detector: is called a detector, which performs 
within acceptable levels even if the assumption regarding 
noise is violated or otherwise performs equally, well in a 
different environment than the assumed one.
Example: 
Assume that noise is Gaussian and then investigate its performance under 

noise with another distribution.
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ΕΙΔΗ ΛΑΘΩΝ

Due to the presence of noise we can perform errors in 
our decisions
(1). Error of the first kind: Pe0. It is the probability to 
decide that the signal is present when it is not or choose 
H1 when H0 is true.
(2). Error of the second kind: Pe1. When the signal is 
present you decide that it is not or choose H0 when H1 
is true.
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ΠΡΟΒΛΗΜΑ 1   (Τηλεπικοινωνίες)

Detection of a pulse (PCM or radar e.t.c)
Case A
Assumption: 
1. s(t) = {A or 0}
2. Probability of s(t) = A = P1

3. Probability of s(t)  = 0 = 1-P1

4. Probability density function of n(t) is known
5. We must base our decision on one sample
Criterion: Minimize the probability of error:

Pe = P1Pe1 + (1-P1)Pe0
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Λύση

Decision will be based on x[n]=x1. If x1 is in one Range R1 then we 
decide that H1 is true and our problem is to find R1.
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Λύση (συνέχεια)

Διάλεξε το R1 έτσι ώστε η πιθανότητα λάθους να είναι
ελάχιστη

ΑΡΑ ΠΡΕΠΕΙ
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Το l(x1) πιθανοφάνεια (likelihood)
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Παράδειγμα 1

Ο θόρυβος έχει κατανομή Gaussian με μέση τιμή μηδέν
και διασπορά σ2.
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Ορισμός: Συνάρτηση Σφλαλματος
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Αριθμητική εφαρμογή

Computer transmits 0,1,… Each pulse occupies T sec and 
we sample every T sec with

P1=P2=1/2,  σ2=2, choose A such that Pe=10-5
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Let T=1μs  on the average we are going to perform 10 errors every second!
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Παράδειγμα 2

Τι γίνεται εάν ο θόρυβος έχει ομοιόμορφη
κατανομή στο [-α,α]

-α 0       Α-α α Α Α+α χ

1/2α

f(x)

Εάν Α-α ≥α τότε Pe=0 και R1=x≥Α-α

Εάν Α-α<α (Α<2α) τότε ?
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ΔΗΜΟΚΡΙΤΕΙΟΔΗΜΟΚΡΙΤΕΙΟ ΠΑΝΕΠΙΣΤΗΜΙΟΠΑΝΕΠΙΣΤΗΜΙΟ ΘΡΑΚΗΣΘΡΑΚΗΣ

ΠΡΟΒΛΗΜΑ 3

Λαμβάνουμε 2 σήματα και γνωρίζουμε την
κατανομή του καθενός.
Λαμβάνουμε μία μέτρηση και θέλουμε να
δούμε εάν έχουμε το σήμα 1 ή το σήμα 2

Αναγνώριση Προτύπων (Παράδειγμα
αναγνώρισης σολομού ή λαυράκι)


